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Solutions to smp-8513-3/WXJD

Worksheet

Problem quickname: 8513

b

Complete the vertical bar chart.

Volume(cm?)
Time of day | Spring | Summer | Autumn
Morning 800 500 1000
Noon 200 400 700
Afternoon 500 200 600
Evening 400 900 500
Night 1000 600 200
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Time of day
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Complete the vertical bar chart. Label the X axis with "Time of day”, the Y axis with
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Solutions to smp-8513-3/WXJD

”Volume”.
Volume(cm?)
Time of day | Pitcairn | Cyprus | Mongolia
Morning 900 900 300
Noon 500 600 700
Afternoon 200 300 100
Evening 700 200 200
Night 600 200 800
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Complete the vertical bar chart.

Amount(dollar)
Direction | January | February | March

North 50 80 30

Bast 30 50 20

South 60 30 40

West 20 20 90
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Create a vertical bar chart, a column chart, for this table of values. Label the X axis
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Solutions to smp-8513-3/WXJD

with "City”, the Y axis with "Volume”.

Volume(m?)
City Bahamas | Sudan | Kuwait | Macau
Girard 80 60 30 10
Wilmette 70 50 70 20
Alix 30 80 80 60
Salesville 60 30 60 80
Loysville 40 40 50 30
Garfield 50 90 20 90
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Good Luck!
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